Quadrilaterals — Parallelograms
Homework Section 6.2 Name

EFGH is a parallelogram. Determine whether each statement
must be true. If it must be true, then state the theorem or
definition that justifies the statement.

#1) FE |/ GH

TV‘*Q.) De“’(n oF Pam”d%m\n

#2) AFDE = AHDG

Tewt, Vecriaal Anges Theoom, diogomals o a parallely busect eech
oMo aud  SAS TMeorem

#3)  LFGH = ZFEH
T vaue, oppes:fe Angks in
o PQ\"Q“Q(%,Q(M are COV‘STWVT"-

#4) FD=DG

TalSe

#5) AFHE = AGHE

CelSe

#6) DE = % EG

T raue, +he d(njpnal’& o‘F @ p‘""lu%m”
besect emn sthes .

If each quadrilateral is a parallelogram, find the value of x, v,
and z.
#7)

\8o°

Z <§o = (§0°
Z = ¢(o0°

(E o’ 8, /oo")

ZtceS = (8O

z =78

%x =30

Xty + (0§ = (8O

Soty t ol T/80
Y ¢ 13 =8O
y= S

(30‘: q4S< 7§°>
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Quadrilaterals — Parallelograms

Homework Section 6.2 Name
#9) #11)
J 3 U
\‘ 65°
N
L'\}-
\\ 125°
E -

(N

2 =t20° Xty tz =8O
y = 2 X+ nglzo'-‘(go'
«+18§S =186

x=93S

Is each quadrilateral a parallelogram? Justify your answer.
#10)

80°

(60

‘x\

soff (00 ’"vﬂw‘
~— <

Y L

\[CS, betn PairS o\ opposik  Sdes

are Pzrclb ' N

MES, betn paics o opyosik  Scwles
are panile.

#12) Explain why it is impossible for the figure to be a
parallelogram.

8

\_>

1 1

%

O?\jbg}k Swdes are

not Conavup,t,
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Quadrilaterals — Parallelograms

Homework Section 6.2

#13) Given parallelogram PQRS with mZP =y and mZQ =4y
+20,(find measures of ZR and /S.")

wme@ = Lly + 20
¢(32)t20

]

A

!

(28 10

mLQ = /18

#14) Given parallelogram ABCD with mZC=x+75and m/D
=3x — 199, find the measures of each angle.

E®

mlC tweD = (§Oo
(3xaq) t(xt75) =180
dy ~ 124230

Hx =304

x= 16

(DmcC= x5

(7)) t7S

wmeC /5
wmi A =S

wm P Sx 199
= 3(76) 199
=~ 228 -14q

wme D= 29

me 3= 7%

Name
#15) Find all the possible ordered pairs for the fourth vertex
of a parallelogram with vertices at J(1,1), U(3, 4), and N(7,1).

SN (o, 4)

SN

u(‘.ﬁu\

N /50y

NL”H)

s, -2)

#16) If NCTM is a parallelogram, mZN =12x+ 10y + 5, mZC =
9x, and mZ£T = 6x + 15y, find m£ZM.

12x #1oy S =Q>xfl§\/\

=7 /Sx+(sy =(30
X+y=/2
\l': 9%

CoxHSYy + A% = (30

Gx toy+S =Sy
COX*S\( +ST0
Gy -5y =-5
Gx-S(izx)="S
x -0 tSX=-S
X ~o <=~

Nx=SS
*=<
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Quadrilaterals — Parallelograms
Homework Section 6.2 Name
#17) NCSM is a parallelogram with diagonals NS and mC
that intersect at point P. If NP =4x + 20, NS =13x, PC=x +Y,

and PM = 2y—2,

NPt PSS = A8
(gsae)+ CHyewy = 13
FRtEo T3
Ho=5¥
g =x

#1) True, Def'n of Parallelogram

#2) True, Vertical Angles Theorem, diagonals of parallelogram bisect each
other, and SAS Theorem.

#3) True, opposite angles of a parallelogram are =

#4) False

#5) False

#6) True, diagonals of a parallelogram bisect each other.

#7) (80, 80, 100)

#8) (30, 45, 75)

#9) (25, 35, 120)

#10) Yes. The opposite sides are parallel because of the converse to the
corresponding angles postulate. Thus, JULY is a parallelogram by definition
of a parallelogram.

#11) No, because consecutive interior angles are not supplementary.
#12) In a parallelogram, opposite sides are congruent. In this figure the
opposite sides of 8 and 9 are not congruent.

#13) m£R =32, m/S =148

#14) m/A =151, m/B=29, m/C=151, m/D =29

#15) (9, 4), (5, -2), (-3, 4)

#16) 45

#17) 36
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